

# GASOILA FREE ALL LUBE-IT ALL TUBO' TOWELS

## **Distributor Price List**

Effective February 1, 2025
This supersedes all previous price lists. Prices subject to change without notice.

#### **TERMS AND CONDITIONS**

Minimum expected annual volume for authorized FedPro™ distributors is \$3,000. FedPro products are sold to distributors who can provide a valid resale certificate, W9, and three (3) US credit references. Distributors agree to adhere to FedPro (Minimum Advertised Pricing) MAP policy. Payment terms are Net 30 days. A carrying cost of 2% will be assessed for overdue invoices. All purchase orders must be submitted in writing. FedPro is not responsible for errors in unconfirmed orders. Orders for less than full case quantities will be increased to full cases.

**Minimum Order is \$500.** Special pricing on orders of twenty (20) cases or more. Pallet quantity pricing is available upon request.

#### **Freight Policy**

Distributor orders shipping within the United States (excluding Alaska and Hawaii) totaling \$1,500 or more receive a FREE freight allowance. All other orders are F.O.B. FedPro warehouses. We reserve the right to ship the best way possible. Drop shipments are subject to an 18% surcharge.

#### **Returned Goods Policy**

All claims for damage must be made within five (5) days of receipt. Material may be returned with written approval only and is subject to a 20% restocking fee. Return instructions will be provided by FedPro. A FedPro return goods authorization form (RGA) must be included with the return and the RGA number must appear on the outside of the carton. Returns must be prepaid and in their original packaging. FedPro credits must be used within six (6) months and are for merchandise only. Merchandise that is over one year old or is discontinued is not eligible for return.

E-mail orders to: orders@fedpro.com

FedPro, Inc. | 4520 Richmond Road | Cleveland, Ohio 44128 U.S.A.

Phone: 216-464-6440 | Fax: 216-464-2080

| Product<br>Description          | Item<br>Number   | Container<br>Size       | Units<br>Per<br>Case | Wt.<br>Per<br>Case | Regular<br>Distributor<br>Unit Net | Regular<br>Distributor<br>Case Net |  |  |
|---------------------------------|------------------|-------------------------|----------------------|--------------------|------------------------------------|------------------------------------|--|--|
| THREAD SEALANTS                 |                  |                         |                      |                    |                                    |                                    |  |  |
| Gasoila <sup>®</sup>            | SS01             | 1/8 oz. Tube            | 100                  | 2                  | \$0.82                             | \$82.00                            |  |  |
| Soft-Set                        | SS02             | 2 oz. Tube Display      | 24                   | 5                  | \$3.13                             | \$75.12                            |  |  |
| With PTFE                       | SS04             | 1/4 pt. Brush           | 24                   | 13                 | \$8.85                             | \$212.40                           |  |  |
|                                 | SS08             | 1/2 pt. Brush           | 24                   | 22                 | \$13.04                            | \$312.96                           |  |  |
|                                 | SS16             | 1 pt. Brush             | 12                   | 22                 | \$21.77                            | \$261.24                           |  |  |
|                                 | SB32             | 1 qt. Brush             | 6                    | 23                 | \$40.25                            | \$241.50                           |  |  |
|                                 | SS32             | 1 qt. Flat Top          | 6                    | 22                 | \$39.49                            | \$236.94                           |  |  |
|                                 | SS28             | 1 Gallon                | 2                    | 28                 | \$146.36                           | \$292.72                           |  |  |
| Gasoila <sup>®</sup>            | BT04             | 1/4 pt. Brush           | 24                   | 12                 | \$17.21                            | \$413.04                           |  |  |
| Hard-Set                        | BT08             | 1/2 pt. Brush           | 24                   | 20                 | \$25.94                            | \$622.56                           |  |  |
|                                 | BT16             | 1 pt. Brush             | 12                   | 20                 | \$38.43                            | \$461.16                           |  |  |
|                                 | FT32             | 1 qt. Flat Top          | 6                    | 19                 | \$64.63                            | \$387.78                           |  |  |
|                                 | FT28             | 1 Gallon                | 2                    | 25                 | \$217.31                           | \$434.62                           |  |  |
| Gasoila® E-Seal                 | GE04             | 1/4 pt. Brush           | 24                   | 13                 | \$11.17                            | \$268.08                           |  |  |
|                                 | GE08             | 1/2 pt. Brush           | 24                   | 22                 | \$18.78                            | \$450.72                           |  |  |
|                                 | GE16             | 1 pt. Brush             | 12                   | 21                 | \$34.00                            | \$408.00                           |  |  |
| Gasoila® DEF                    | DE04             | 1/4 pt. Brush           | 12                   | 7                  | \$21.17                            | \$254.04                           |  |  |
| Gasoila®-NT                     | NT08             | 1/2 pt. Brush           | 24                   | 21                 | \$12.36                            | \$296.64                           |  |  |
| Non-PTFE (No PFAS Adde          |                  | 1 pt. Brush             | 12                   | 20                 | \$20.66                            | \$247.92                           |  |  |
| Gasoila®-100                    | GH04             | 1/4 pt. Brush           | 12                   | 6                  | \$21.27                            | \$255.24                           |  |  |
|                                 | GH08             | 1/2 pt. Brush           | 12                   | 10                 | \$30.27                            | \$363.24                           |  |  |
|                                 | GH16             | 1 pt. Brush             | 6                    | 9                  | \$51.38                            | \$308.28                           |  |  |
| Gasoila® High-Fill              | JC04             | 1/4 pt. Brush           | 24                   | 13                 | \$12.66                            | \$303.84                           |  |  |
| (JC-30 <sup>®</sup> ) with PTFE | JC16             | 1 pt. Brush             | 12                   | 17                 | \$29.21                            | \$350.52                           |  |  |
| PLS® 2 Premium Pipe             | PB04             | 1/4 pt. Brush           | 24                   | 12                 | \$14.56                            | \$349.44                           |  |  |
| Thread and Gasket               | PB16             | 1 pt. Brush             | 6                    | 10                 | \$49.53                            | \$297.18                           |  |  |
| Sealer<br>FasSeal-ATS™          | PL28             | 1 Gallon<br>50 ml. Tube | 2<br>10              | 27<br>2            | \$299.29                           | \$598.58                           |  |  |
| Anaerobic with PTFE             | AS05             | 250 ml. Tube            | 10                   | 8                  | \$25.64<br>\$66.10                 | \$256.40<br>\$661.00               |  |  |
| Allaelobic with Pire            | A323             | 250 IIII. Tube          | 10                   | O                  | φου. 10                            | φ001.00                            |  |  |
|                                 |                  | ANTI-SEI                | ZE                   |                    |                                    |                                    |  |  |
|                                 |                  |                         |                      |                    | <u> </u>                           |                                    |  |  |
| Thred Gard®<br>General Purpose  | TG04             | 1/4 lb. Brush           | 24                   | 9                  | \$7.79                             | \$186.96                           |  |  |
| General Purpose                 | TG08             | 1/2 lb. Brush           | 12<br>12             | 8                  | \$10.51                            | \$126.12                           |  |  |
|                                 | TG16 1 lb. Brush |                         |                      | 15                 | \$15.07                            | \$180.84                           |  |  |
| Thred Gard®<br>Copper Based     | CG04             | 1/4 lb. Brush           | 24                   | 10                 | \$8.52                             | \$204.48                           |  |  |
| copper pased                    | CG08             | 1/2 lb. Brush           | 12                   | 9                  | \$11.16                            | \$133.92                           |  |  |
|                                 | CG16             | 1 lb. Brush             | 12                   | 15                 | \$15.67                            | \$188.04                           |  |  |
| Thred Gard®<br>Nickel Based     | NG04             | 1/4 lb. Brush           | 24                   | 9                  | \$10.95                            | \$262.80                           |  |  |
| MICREI DASEU                    | NG08             | 1/2 lb. Brush           | 12                   | 8                  | \$15.49                            | \$185.88                           |  |  |
|                                 | NG16             | 1 lb. Brush             | 12                   | 16                 | \$24.32                            | \$291.84                           |  |  |



E-mail orders to: orders@fedpro.com

| Product<br>Description                        | Item<br>Number  | Container<br>Size   | Units<br>Per<br>Case                                    | Wt.<br>Per<br>Case                          | Regular<br>Distributor<br>Unit Net   | Regular<br>Distributor<br>Case Net  |  |  |
|---|---|---|---|---|--|---|--|--|
| PTFE TAPES                                    |   |   |   |   |  |   |  |  |
| Thred Tape HD<br>High Density<br>PTFE Tape    | TT23<br>TT33<br>TT38<br>TT40  | 3/4" x 288" Roll<br>3/4" x 576" Roll<br>3/8" x 520" Roll<br>1/2" x 260" Roll  | 24<br>24<br>144<br>144                                  | 2<br>2<br>5<br>5                            | \$6.60<br>\$9.88<br>\$5.72<br>\$4.85   | \$158.40<br>\$237.12<br>\$823.68<br>\$698.40  |  |  |
| Other tape sizes also available upon request. | TT41<br>TT42<br>TT43<br>TT44  | 1/2" x 520" Roll<br>1/4" x 520" Roll<br>1/4" x 260" Roll<br>1/2" x 1296" Roll   | 144<br>144<br>144<br>144                                | 8<br>5<br>4<br>21                           | \$6.58<br>\$4.82<br>\$2.82<br>\$16.22  | \$947.52<br>\$694.08<br>\$406.08<br>\$2,335.68  |  |  |
| Thred Tape MD<br>Medium Density<br>PTFE Tape  | TT53<br>TT54<br>TT60<br>TT61  | 3/4" x 260" Roll<br>3/4" x 520" Roll<br>1/2" x 260" Roll<br>1/2" x 520" Roll  | 24<br>24<br>144<br>144                                  | 2<br>2<br>5<br>7                            | \$5.20<br>\$8.17<br>\$3.28<br>\$4.95   | \$124.80<br>\$196.08<br>\$472.32<br>\$712.80  |  |  |
| Thred Tape SD Standard Density PTFE Tape      | ZT12<br>ZT13<br>ZT15<br>ZT20<br>ZT20-BC<br>ZT21<br>ZT44<br>ZT51<br>ZT60 | 3/4" x 250" Roll<br>3/4" x 500" Roll<br>3/4" x 520" Roll<br>1/2" x 260" Roll<br>1/2" x 260" Carded<br>1/2" x 520" Roll<br>1/2" x 1296" Roll<br>1" x 520" Roll<br>2" x 260" Roll | 144<br>144<br>100<br>144                                | 4<br>5<br>5<br>4<br>2<br>6<br>15<br>8<br>12 | \$1.95<br>\$3.22<br>\$3.60<br>\$1.63<br>\$1.71<br>\$2.95<br>\$5.91<br>\$5.91<br>\$6.76 | \$195.00<br>\$322.00<br>\$360.00<br>\$234.72<br>\$41.04<br>\$424.80<br>\$851.04<br>\$591.00<br>\$973.44 |  |  |
| Economy<br>PTFE Tape                          | 1901B<br>1901C<br>1901C-BC<br>1901D<br>1901E<br>1901F<br>1901G<br>1901H | 1/2" x 1296" Roll<br>1/2" x 260" Roll<br>1/2" x 260" Carded<br>1/2" x 520" Roll<br>3/4" x 520" Roll<br>1" x 520" Roll<br>1" x 1296" Roll<br>3/4" x 260" Roll                    | 100<br>100<br>Roll 24<br>100<br>100<br>50<br>140<br>140 | 3<br>2<br>3<br>7<br>3<br>15<br>6            | \$2.32<br>\$0.62<br>\$1.66<br>\$0.84<br>\$1.35<br>\$1.87<br>\$4.94<br>\$0.81           | \$232.00<br>\$62.00<br>\$39.84<br>\$84.00<br>\$135.00<br>\$93.50<br>\$691.60<br>\$113.40                |  |  |
|   | SPE   | CIALTY PTF  | ETA   | PES   |  |   |  |  |
| Yellow Thred<br>Tape HD                       | YT70-24<br>YT70<br>YT71<br>YT75   | 1/2" x 260" Roll<br>1/2" x 260" Roll<br>1/2" x 520" Roll<br>1" x 520" Roll  | 24<br>144<br>100<br>100                                 | 1<br>6<br>6<br>11                           | \$4.50<br>\$4.28<br>\$7.91<br>\$12.98  | \$108.00<br>\$616.32<br>\$791.00<br>\$1,298.00  |  |  |
| Pink Thred Tape HD                            | PT80-24<br>PT80   | 1/2" x 260" Roll<br>1/2" x 260" Roll  | 24<br>144   | 1 6   | \$4.50<br>\$4.28   | \$108.00<br>\$616.32  |  |  |
| Stainless Steel<br>Thred Tape HD              | SA26<br>SA26-34<br>SA60<br>SA520-1<br>SA260-1                           | 1/2" x 260" Roll<br>3/4" x 260" Roll<br>1/2" x 600" Roll<br>1" x 520" Roll<br>1" x 260" Roll  | 40<br>40<br>50<br>40<br>40                              | 2<br>3<br>4<br>5<br>4                       | \$6.55<br>\$9.41<br>\$14.31<br>\$19.77<br>\$11.10                                      | \$262.00<br>\$376.40<br>\$715.50<br>\$790.80<br>\$444.00  |  |  |
| Green Thred<br>Tape HD                        | GT90-24<br>GT90   | 1/2" x 260" Roll<br>1/2" x 260" Roll  | 24<br>144   | 1<br>6                                      | \$4.50<br>\$4.28   | \$108.00<br>\$616.32  |  |  |
|   |   | GASKET MA   | KER   | S   |  |   |  |  |
| Zip Joint®<br>PTFE Rope                       | ZJ11<br>ZJ13  | 3/32" D. x 25' Coil<br>5/32" D. x 25' Coil  | 6<br>6  | 2<br>2                                      | \$16.69<br>\$33.16   | \$100.14<br>\$198.96  |  |  |
| EXPANDING FOAM                                |   |   |   |   |  |   |  |  |
| Work Sav'r®<br>EFS-Expanding<br>Foam Sealant  | EF12  | 12 oz. Aerosol  | 12  | 13  | \$8.90   | \$106.80  |  |  |

| Product Description   | Item<br>Number  | Container  | Units<br>Per<br>Case                                     | Wt.<br>Per<br>Case                           | Regular<br>Distributor<br>Unit Net   | Regular<br>Distributor<br>Case Net   |
|---|---|--|--|--|--|--|
|   | PENET   | RANTS & LU   | JBR  | RICAN.                                       | ΓS <b>TO</b>   |  |
| Free All® Deep Penetrating Oil THE RUST EATER™  | RE01<br>RE06<br>RE12<br>RE12-RS<br>FS16<br>FA28<br>FA55                           | 1.5 oz. Aerosol<br>6 oz. Aerosol<br>11 oz. Aerosol<br>11 oz. w/Straw<br>14 oz. Non-Aerosol<br>1 Gallon Can<br>55 Gallon Drum                                   | 12<br>12<br>12<br>12<br>12<br>12<br>4<br>1               | 2<br>7<br>12<br>12<br>14<br>35<br>400        | \$3.65<br>\$5.90<br>\$7.90<br>\$8.90<br>\$10.95<br>\$62.35<br>\$2,375.00             | \$43.80<br>\$70.80<br>\$94.80<br>\$106.80<br>\$131.40<br>\$249.40<br>\$2,375.00              |
| Lube-It All®<br>Deep Lubricating Oil  | LA01<br>LA06<br>LA12  | 1.5 oz. Aerosol<br>6 oz. Aerosol<br>11 oz. Aerosol   | 12<br>12<br>12   | 2<br>7<br>12                                 | \$3.65<br>\$5.90<br>\$7.90   | \$43.80<br>\$70.80<br>\$94.80  |
| Lube-It All® White Grease   | pe-It AII® WG16 11 oz. Aerosol  |  |  |  |  | \$106.80   |
| Lube-It All®<br>Heavy Duty Silicone   | LA12SL  | 10 oz. Aerosol   | 12   | 11   | \$8.90   | \$106.80   |
| Lube-It All®<br>Food Grade Lubricants   |   |  |  |  |  |  |
| 450-Multipurpose<br>525-Multipurpose<br>Silicone  | LA450<br>LA525  | 12 oz. Aerosol<br>11 oz. Aerosol   | 12<br>12   | 13<br>12                                     | \$8.90<br>\$8.90   | \$106.80<br>\$106.80   |
|   | CA  | P & COVER  | PA   | INT  |  |  |
| Vapor Recovery Orange Diesel Yellow Kerosene Brown Premium Red Heating Oil Green Mid-Grade Blue Unleaded White Black Bronze | FM15O<br>FM15Y<br>FM15BR<br>FM15R<br>FM15G<br>FM15BL<br>FM15W<br>FM15B<br>FM15BRZ | 15 oz. Aerosol<br>15 oz. Aerosol | 12<br>12<br>12<br>12<br>12<br>12<br>12<br>12<br>12<br>12 | 16<br>16<br>16<br>16<br>16<br>16<br>16<br>16 | \$10.95<br>\$10.95<br>\$10.95<br>\$10.95<br>\$10.95<br>\$10.95<br>\$10.95<br>\$10.95 | \$131.40<br>\$131.40<br>\$131.40<br>\$131.40<br>\$131.40<br>\$131.40<br>\$131.40<br>\$131.40 |
|   |   | GAUGING PA   | <b>\ST</b>   | ES   |  |  |
| Gasoila <sup>®</sup> Water Finding Paste  | WF25<br>WT25  | 2.5 oz. Jar<br>2.5 oz. Tube Display  | 24<br>24   | 6<br>5                                       | \$4.31<br>\$3.70   | \$103.44<br>\$88.80  |
| Gasoila® All Purpose<br>Water Finding Paste   | AP02  | 2.oz. Tube Display   | 24   | 5  | \$6.67   | \$160.08   |
| Gasoila <sup>®</sup><br>Gas Gauging Paste   | GG25  | 2.5 oz. Jar  | 24   | 6  | \$4.31   | \$103.44   |
|   |   | LEAK DETEC   | TO   | RS   |  |  |
| Gasoila® Leak-Tech<br>Extreme Temperature<br>Leak Detector  | LT08<br>LT28<br>LS16<br>LT55  | 8 oz. w/Dauber<br>1 Gallon Bottle<br>1 pt. Spray Bottle<br>55 Gallon Drum  | 12<br>4<br>12<br>1                                       | 9<br>38<br>17<br>440                         | \$4.61<br>\$23.24<br>\$7.29<br>\$801.77  | \$52.32<br>\$92.96<br>\$87.48<br>\$801.77  |

Call for 20+ Case Pricing! Pallet Pricing Also Available!

E-mail orders to: orders@fedpro.com

| Product<br>Description   | Item Container<br>Number Size                                  |   | Units<br>Per<br>Case                   | Wt.<br>Per<br>Case            | Regular<br>Distributor<br>Unit Net                                   | Regular<br>Distributor<br>Case Net   |
|--|--|---|--|-------------------------------|--|--|
|  |  | CLEANE  |  |                               |  |  |
| TUBO' TOWELS Heavy Duty Cleaning Wipes                         | TW90<br>TW90-P<br>TW40<br>TW01<br>TW01-GR<br>TW01-6<br>TW01-15 | 90 Towel Canister<br>90 Towel Refill Pack<br>40 Towel Canister<br>Single Towel Pack<br>Display Box<br>6 Pack Pouch<br>15 Pack Pouch | 6<br>8<br>12<br>350<br>100<br>24<br>18 | 17<br>21<br>9<br>10<br>4<br>5 | \$12.95<br>\$12.95<br>\$5.67<br>\$0.58<br>\$0.58<br>\$3.40<br>\$7.25 | \$77.70<br>\$103.60<br>\$68.04<br>\$203.00<br>\$58.00<br>\$81.60<br>\$130.50 |
| Tub O' Towels®<br>Dual Texture<br>Cleaning Wipes               | TW75-DT<br>TW01-DT   |   |  |                               | \$12.95<br>\$0.58  | \$77.70<br>\$203.00  |
| Tub O' Towels®<br>Heavy Duty<br>Cleaner &<br>Degreaser Spray   | Heavy Duty TW128-SPR Cleaner & TW02-SPR-12                     |   | 12<br>4<br>12                          | 22<br>38<br>22                | \$5.45<br>\$12.90<br>\$2.12  | \$65.40<br>\$51.60<br>\$25.44  |
| Tub O' Towels® S <sub>l</sub>                                  | pecialty Clear   | ning Wipes  |  |                               |  |  |
| Stainless Steel  Granite & Marble                              | TW40-SS<br>TW01-SS<br>TW40-GR                                  | 40 Towel Canister<br>Single Towel Pack<br>40 Towel Canister   | 12<br>350<br>12                        | 7<br>6<br>9                   | \$5.67<br>\$0.58<br>\$5.67   | \$68.04<br>\$203.00<br>\$68.04   |
| Carpet & Upholstery Chrome                                     | TW01-CP Single Towel Pack<br>TW40-CHR 40 Towel Canister        |   | 350<br>12<br>350<br>12                 | 7<br>8<br>7<br>7              | \$0.58<br>\$5.67<br>\$0.58<br>\$5.67                                 | \$203.00<br>\$68.04<br>\$203.00<br>\$68.04                                   |
| Tub O' Towels®<br>Stainless Steel<br>Cleaner & Polish          | Steel  |   | 12                                     | 15                            | \$0.58<br>\$7.90   | \$203.00<br>\$94.80  |
|  |  | HAND CLEA   | NER                                    |                               |  |  |
| Tub O' Towels® Heavy Duty Hand Cleaner (formerly Tub O' Scrub) | TS18<br>TS64<br>TS28<br>TS01<br>TS01-GR                        | 18 oz. Bottle<br>1/2 Gallon Pump<br>1 Gallon Pump<br>0.3 oz. Single Pack<br>Display Box   | 12<br>4<br>4<br>350<br>100             | 16<br>20<br>40<br>10<br>4     | \$6.26<br>\$12.12<br>\$19.43<br>\$0.58<br>\$0.58                     | \$75.12<br>\$48.48<br>\$77.72<br>\$203.00<br>\$58.00                         |

### LIMITED WARRANTY

FedPro, Inc. (FP) products are warranted against defects in workmanship and materials for a period of one year from the date of purchase. This warranty is non-transferable. FP shall not have the obligation for any labor costs or any other expenses incurred in replacing any such defective goods, including freight. FP shall not be liable for any damages, expenses, or costs resulting from loss of use of goods or time, loss or damage to real or personal property, loss of income, or personal injuries. FP shall not be liable for replacement of goods damaged due to accident, negligence, or improper use. The obligation of FP under this warranty is expressly limited to replacement of defective goods. FP expressly disclaims the implied warranties of merchantability and fitness for a particular purpose. This warranty is in lieu of all other warranties. No representative of FP has the authority to make any other warranties, express or implied, or to assume any obligations other than those specified above, on behalf of FP, and any such warranties and obligations shall not be binding upon FP. The rights of this warranty may not be assigned without the express prior written consent of FP.

| _ |  |
|---|--|
|   |  |
|   |  |
|   |  |
|   |  |

| Item<br>Number | Length<br>Inches |     | Color   | Units Per<br>Bag | Bags<br>Per Case | Price Per<br>Bag | Price Per<br>Case |
|----------------|------------------|-----|---------|------------------|------------------|------------------|-------------------|
| CT04           | 4                | 18  | Natural | 100              | 10               | \$0.92           | \$9.20            |
| CB04           | 4                | 18  | Black   | 100              | 10               | \$1.08           | \$10.80           |
| CT06           | 6                | 18  | Natural | 100              | 10               | \$2.51           | \$25.10           |
| <b>CB06</b>    | 6                | 18  | Black   | 100              | 10               | \$3.22           | \$32.20           |
| CT08-18        | 8 8              | 18  | Natural | 100              | 10               | \$3.54           | \$35.40           |
| CB08-18        | 8 8              | 18  | Black   | 100              | 10               | \$3.79           | \$37.90           |
| CB05           | 5                | 40  | Black   | 100              | 10               | \$3.54           | \$35.40           |
| CT08           | 8                | 40  | Natural | 100              | 10               | \$3.93           | \$39.30           |
| CB08-40        | 8 0              | 40  | Black   | 100              | 10               | \$4.22           | \$42.20           |
| CT07           | 7                | 50  | Natural | 100              | 10               | \$3.05           | \$30.50           |
| CB07           | 7                | 50  | Black   | 100              | 10               | \$3.60           | \$36.00           |
| CT11           | 11               | 50  | Natural | 100              | 10               | \$4.92           | \$49.20           |
| CB11           | 11               | 50  | Black   | 100              | 10               | \$5.55           | \$55.50           |
| CT14           | 14               | 50  | Natural | 100              | 10               | \$5.79           | \$57.90           |
| CB14           | 14               | 50  | Black   | 100              | 10               | \$6.92           | \$69.20           |
| CT17           | 17               | 50  | Natural | 100              | 10               | \$11.05          | \$110.50          |
| CB17           | 17               | 50  | Black   | 100              | 10               | \$11.48          | \$114.80          |
| CT08-12        | 20 8             | 120 | Natural | 100              | 10               | \$11.55          | \$115.80          |
| CB08-12        | 20 8             | 120 | Black   | 100              | 10               | \$10.82          | \$108.20          |
| CT14-12        | 20 14            | 120 | Natural | 100              | 10               | \$11.90          | \$119.00          |
| CB14-12        | 20 14            | 120 | Black   | 100              | 10               | \$12.47          | \$124.70          |
| CT18           | 18               | 120 | Natural | 100              | 10               | \$23.51          | \$235.10          |
| CB18           | 18               | 120 | Black   | 100              | 10               | \$24.42          | \$244.20          |
| CT24           | 24               | 175 | Natural | 50               | 5                | \$13.57          | \$67.85           |
| <b>CB24</b>    | 24               | 175 | Black   | 50               | 5                | \$14.27          | \$71.35           |
| CT36           | 36               | 175 | Natural | 50               | 5                | \$16.77          | \$83.85           |
| <b>CB36</b>    | 36               | 175 | Black   | 50               | 5                | \$17.60          | \$88.00           |
| CT48           | 48               | 175 | Natural | 50               | 5                | \$32.55          | \$162.75          |
| CB48           | 48               | 175 | Black   | 50               | 5                | \$36.50          | \$182.50          |

Binding | Carrying | Shipping | Organizing | Installing | Securing



E-mail orders to: orders@fedpro.com

FedPro, Inc. | 4520 Richmond Road | Cleveland, Ohio 44128 U.S.A.

Phone: 216-464-6440 | Fax: 216-464-2080